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SOCIOLOGY Paper No. VII 

: SociaJI>roblems- I 
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Total Marks: 70 Notes: (1) Attempt all questions. 
(2) Bracket at the right side indicates marks. 

Q.1 Write any six (06) answer in brief. 18 1. Can social problems be removed? 
2. One social problem generates many problems? 
3. How does the social problem work as a safety valve? 
4. Does the vested interest pressurize towards social conformity? 5. How does the rationalization appreciate deviant behavior? 
6. Who is juvenile delinquent? 
7. Why do the children of a family engage in immoral business become juvenile delinquent? 

. 8. Which age grouped labour known as child labour? 
9. Can lack of facility of education be responsible for chi.ld labour? 10. Can we remove problem of child labour by economic development? 

Q-2 Give meaning of social problems describe characteristics of social problems. 17 
OR 

Q-2 Explain social norms and discuss causes of social conformity. 

"':r3 Give meaning of juvenile delinquency and explain remedies of juvenile 17 .. · delinquency. 

OR 
Q-3 Give meaning of child labour and explain preventive measures. 

Q-4 write a note on (any two) 
18 

1. Dysfuction of social problems. 
2. Social causes of juvenile delinquency. 
3. Remand home. 
4. Remedial measures for child labour. 
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